
1. ∑
i<n
i sudé

x2i

2.

I4 =


1 0 0 0
0 1 0 0
0 0 1 0
0 0 0 1


3.

|x| =

{
x x ≥ 0

−x x ≤ 0

4.

a+ b+ c+ d+ e+ f + b+ c+ d+ e+ f + b+ c+ d+ e+ f

+ b+ c+ d+ e+ f + b+ c+ d+ e+ f + i+ j + k + l +m+ n

5.

a+ b = c+ d

x = w + y + z

m+ n+ o+ p = q

6.

a11x1 + a12x2 + a13x3 = y1,

a21x1 + a22x2 + a24x4 = y2,

a31x1 + a33x3 + a34x4 = y3.

7.

a+ b+ c+ d = 0,

c+ d+ e = 5.



8.

x1 + y1 +

(∑
i<5

(
5
i

)
+ a2

)2
(∑

i<5

(
5
i

)
+ α2

)2

9.
α = αα

β = βββββ

γ = γ

versus δ = δδ

η = ηηηηηη

ϕ = ϕ

10.

a = b+ c− d

+ e− f

= g + h

= i

(1)

1

2 +
1

3 + · · ·

(*)

Řetězové zlomky viz (*).


